Efficiency vs Dxy(PV)
0.8,

o

o

0

S
=
=

S
@
>
>
9
c

2

L

=
@

o

Ratio

0.

)5 =20-15-10 =5 0 5 10 15 20 25

TP dxy(PV) (cm)

—=— DQMstep3_ZToEE_CKF
—e— DQMstep3_ZToEE_default

[Efficienc] —— DQMstep3_zToEE_ckiPixelLess

a -
4 -
< oo
5 R
o HE
> P
> oy
)
= A
@ . .
) : :
© M. .
B P |
[ faia i
ie}
T
o
0.
0

Efficiency vs Dz(PV)

95108060402

02040608 1
TP dxy(PV) (cm)

0.8

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

Efficiency vs Dz(PV)
1.

0 10 20 30

TP dz(PV) (cm)

efficiency vs dz(PV)
o
© B

o
e

o
»

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


